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20 | 40 | 60 | 100| 150 | 200 | 250 | &t | 10| 20 | 40 | 60 | 100 | 150 | 250 | 300 | F | &t
1 |HEMTHR 0 5 5 5
2 [#REMTHA 0 3 3 3
3 |[f#&ET2TH 0 7 7 7
4 |KHT1TH 5 5 20 20| 25
5 | KE2TH 0 17 17| 17
6 | XEI3TH 0 17 17| 17
7 |FEHET1-2TH 102 3 12 12| 15
8 [FAEI3TH 0 35 35| 35
9 |JBET1TH 0 10 10| 10
10 [MBET2T B 0 3 3 6 6
11 [MBET3T B 0 10 10| 10
12 |HERMTHR 0 14 14| 14
13 |FEMNITHE 0 3 3 3
14 |$BT2TH 0 4 4 4
15 |$RI3TH 0 13 13| 13
16 |SREMTH 0 12 12| 12
17 [EEI3TH 0 11 11 11
18 |AE1TH 3 3 9 9| 12
19 |AE2TH 0 3 3 3
20 |ABI3TH 3 3 12 12| 15
21 |KH4TH 0 36 36| 36
22 |ABISTH 0 43 43| 43
23 |=BIITH 4 4 9 9| 13
24 |EET2THR 0 9 5 14| 14
25 |EET2T B 0 3 3 3
26 |[ZEET2THIL 0 4 4 4
27 |=HI3 0 21 21| 21
28 |EEI3THR 0 12 12| 12
29 |EHEISTH 0 2 2 2
=RT1-23 0 7 7 7
BT178 0 8 8 8
0 21 21| 21
33 |EHET2Fh R 0 1 i 3 5 5
34 |SRETET 1 3 4 9 9| 13
35 |$RATIRT 4 4 1 1 5
36 |$RATTIL 3 4 8 15 8 8| 23
37 |$RAT2-34L 0 6 6 6
38 [PHETEI 4 4 4 4 8
39 [PHETEE2 4 4 6 6| 10
40 |HHETEE3 0 5 5 5
41 |HETEE4 5 5 4 4 9
42 |HETEES 4 4 8 8l 12
43 |HHETEE6 0 6 6 6
44 | RETERAT 0 2 2 2
45 | FHET2 10 10 5 5 15
46 | RHAT3 0 10 10| 10
47 | RHETS 10 10 14 14| 24
48 | KHAT6 0 13 13| 13
| 49 [T 0 20 4 1 7 7
50 |FRAT1TH 0 16 16| 16
51 [SRETEAE 0 9 9 9
52 |SRETHIT 0 2 2 2
53 |RET2TH 0 18 18| 18
82 |RET3 0 4 4 4
54 [ET1TH 0 7 7 7
55 [JEET2TH 0 14 14| 14
56 |FEHET1-2T B 0 16 16| 16
57 |FEET2T AR 0 8 8 8
58 |FEET2T B 0 7 7 7
59 |FEET3T A& 0 2 2 2
60 |FEET3T B 0 7 7 7
61 |FARTAT B 0 2 2 2
62 |RET4TH 0 17 17| 17
63 |HHETST B2 0 8 7 15| 15
64 |FTET4T B 1 0 7 7 7
65 |#ET4T B2 0 12 12| 12
66 |#TETST B 0 13 13| 13
67 |JBET4ATH 0 28 28| 28
68 |FEIAATEE1 0 4 4 4
69 |EATEE2 0 15 15| 15
70 | ERTEE3 0 15 15| 15
71 |AOH2 TS 0 7 7 7
72 |ADHE1-38E 0 12 12 12
73 [HOHM3LEEMEE 0 12 12 12
| 74 |RPERR 0 27 27| 27
84 | L B HE 0 1 1 1
75 [ALBTRAICAT 0 14 14| 14
77 | &1 0 15 15| 15
83 | &2 0 8 8 8
76 [EH3BBME 0 2 2 2
78 [IRERE 0 1 1 1
79 |pomsmnamEom2—1) 0 7 7 7
| 80 |PAspiTEImME 16 10 26 o| 26
81 [HEERE 0 3 3 3
85 [TiEERE 0 15 15| 15
| 86 [BICHERS of 1 1 1
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